PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

17th July 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Study the following figure carefully and answer the question. The triangle represents
doctors. The circle represents players and the rectangle represents artists. /

IR BT S q g B3 3R | Uil &1 wrard | FApior staez) & guitar 81 g9 Raarfsal #) gxifar 8
IR ATIT HATH! BT Gt &

- “"(\ ~
\J\/

How many players are neither artists nor doctors? JAC TR fEarst 9 saeR g 3R 7§ ST

30

° 4
° 3
L)

e None of these /S8 ¥ ®I5 T8l

Correct Answer :-None of these /§TH & ®IS 8l

2)

Question Stimulus :-

P is equal to or not shorter than Q. N is as tall as P. M is taller than or equal to N. Then
which of the following is certainly correct? / P, Q & JH Yl I9H BleT T8l & N ST & ol
g R f& Pl M, N Q @71 91 399 IR g1 @) Fw § @ &9 a1 = [fda € 9w 82

(x) M is taller than P / M, P ¥ @1 &

(y) N is equal to or taller than Q / N, Q & JHM 3MYdl ITH I+ §

®* x alone / Had x
)



®* yalone / Fad \Y%

e bothxandy /HixTdy

® neither xnory/xTd yH | &I 8l
Correct Answer :-y alone / $ddy
3)

Question Stimulus :-

Who was the first speaker of the Lok Sabha? / APAHUT & U’Eﬁ qoIT DI A2
® K.S.Hegde/ & TH IS
® Hukam Singh / §PH Rig
® M. A. Ayyangar /GH T SR
e Ganesh Mavlankar / TTOIRT ATIGH

Correct Answer :-Ganesh Mavlankar / TTOIR] ATAGHT

4)
Question Stimulus :-

In India, the monetary policy is controlled by ./ HRd o Aifge Hifa I 10 frifaa foar srar %I
® Finance Minister / fo=T T3t
® Union Government / $% IRPTT
® Reserve Bank of India / HIRa 19 fYoid §&
® Finance Ministry / ICSREIGUI

Correct Answer :-Reserve Bank of India / HRd1g f¥od o

5)
Question Stimulus :-

Who was the first governor general of free India? / ¥dda HRd & UYH TG oFRd PIF A?
® Lord William Bentinck / dis faciiaa a<die
* Lord Canning / QT8 &=

©)



® Lord Mount Batten / GICK: | deA

® Lord Dalhousie / IS SABISGN

Correct Answer :-Lord Mount Batten / @S HIGC d

6)
Question Stimulus :-

Three friends want to hire a taxi for a trip. The taxi owner provides them with following

three options: / dI9 I T a1 & T Us il fve wR &A1 918d &1 ¢t wifere I8 FRgfefaa
aF fawer wgH ovar 8:

A. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for Rs. 500 per day. / A. 3lU ﬁmm%

SRT fT R @ T@a &1 ITST v ulafd 2500 FUT EhITI SEER g TOit A o THdr 8 SUBT Iad
500 ¥UT yfafeT grm|

B. You can hire the taxi with driver from the first agency. This would cost you Rs. 2800 per
day. But driver will have to be provided relief fund of Rs.250 per day if total distance
traveled exceeds 1500 KM. / B. 30 Ugd! Toikil & SIFaR & ITY TR & Tdbd g1 3THT 2800 Ul

37 Tud &1 @ 3mu | wfrd $1saR & ufd fd 250 & WEd HIW ¢AT §RM, Al Fa g BI a1 Bt 1500
frarfier & sifte gift

C. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for 50 paise per KM. / C. 3llU

SEEN
SRY fFT R @ TPa &1 ITST R ufafda 2500 FUT FhT SR g THt A o GHdr 8 SHBT Iad
50 T ufa feaidier grm

If they had planned to tra!v_el total of 6000kms in 5 days. Which option would have been
better? / af¢ 3 3P 5 a1 T 6000 fFeiier Ft FA@ BT HA I AT €, df DI IT AP JgR

gRIT?
e A
e B
e C
e Either AorC/A TT ¢ &I oft
Correct Answer :-B
7)
Question Stimulus :-

Following are three views of a cube. Which of the following options is opposite to the face shown at the right? / CLE

3R W AP B T P I B4 F [OE wies forar oar €, 91 i e § § #9 § foow § vae
Rl 3R R A vae & fudq &2

(4)



j=h

s

o

Correct Answer :-

8)
Question Stimulus :-

In which district is the Acchnakamar sanctuary located? / fra ford § saMeHR sivaRTY fRa %?

e Morena / g&

® Ratlam / IdTH

e Annuppur / SFUqR

* Rewa/Jfal
Correct Answer :-Annuppur / 3UQR
9)
Question Stimulus :-

Sihoniya, known for “Kakan Math” Shiva temple is located in which district of Madhya

Pradesh? / “&1%- #3" @ dfer & e s o1 g RgifFan, e vew & 5y e o Ry 82

° Morena/ﬂi’ﬂ
¢ Gwalior / WIfeR

(5)



L Shivpuri/&lﬁ'ﬂ'\ﬂ'
* Sheopur / TR

Correct Answer :-Morena / BT

10)
Question Stimulus :-

Who won Silver Medal in Wrestling in London Olympics 2012?/ g+ 3Nefued 2012 # o d
o fhwe Sitar ur?

® Yogeshwar Datt/ TR &<
® Gagan Narang/ TR AT
® Saina Nehwal/ HIgHT ﬁm

® Sushil Kumar/ ﬁi‘ﬂﬁ PHR

Correct Answer :-Sushil Kumar/ 0 $UR

11)
Question Stimulus :-

The Ramakrishna Mission was founded by / JTHP T firee fPae aRI T far T o1
® Swami Vivekananda / qrHt ﬁ'a'ﬂ“'ﬂ:ﬁ:{
® Ramakrishna Paramahamsa / J[H$p T TRHEH
® Sarada Devi / RRGI aﬂ'
® Mahendranath Gupta / 'FI%E_"IT?I' RIS

Correct Answer :-Swami Vivekananda / ST fda®Tig

12)

Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / Gl ¥eg YR ¥ ST TG §| M9 # & 9 Ml &1 T F1d DI
Paisa : Rupee :: / T : 0T 2

® Kilogram : Quintal / e : féea

(6)



® |Meter : Centimeter / ez : AdHew

e Coin: Money / IGECI R

e Weight:Ton / HIR : T
Correct Answer :-Kilogram : Quintal / fpaiumd : féea
13)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu
g sidab sl AR R s F A :

It is not true that both Ram and Shyam are champions. / 98 9d 781 g & &9l I 3R W™
fastar g1

¢ Ram is a champion or Shyam is a champion. /mwﬁﬁm%mmwﬁﬁm%l

e Ram is not a champion or Shyam is a champion. lmwﬁﬁ?ﬂ Hﬁ%mmwﬁw

gl
e Ram is a champion and Shyam is a champion. / 39 T% fquidT § iR TaTH U fosiar &
* None of the above / E@ﬁﬁﬁiﬁﬁ

Correct Answer :-Ram is a champion or Shyam is a champion. /mwﬁﬁm%mm
% fooar 21

14)
Question Stimulus :-

When was the Preamble to the India Constitution last amended? /‘l-I'R?ﬁ'q AU $1 UaraT § e IR oa Iy
fomar T um?

® 2013
® 1976
® 1982
® 1991

Correct Answer :-1976

15)
Question Stimulus :-

(7)



Select the option, which is the logical equivalent of the statement given below: / dg foweu

g, ab F1 R AR R W FyT F 0= 7 -

It is not true that both Latha and Geetha love coffee / I8 I 78! ¢ & GIHI @dr 3R idr &1 Hiwt
Wig 8§

Latha loves coffee or Geetha loves coffee / Adl &I BB GHSE g AT AT B BB TS &

Latha loves coffee and Geetha loves coffee / &dT &I BIB! TS & MR 1Td1 B HIBI WWg 2

Latha hates coffee and Geetha loves coffee / Tdl @ ®IUl ATIHG & 3R T &I HIBI GHg
?

Latha loves coffee and Geetha hates coffee / Tdl B! BIBI TS & 3T AT B! BIBT ATIHS

7

Correct Answer :-Latha loves coffee or Geetha loves coffee /amaﬁﬁu-ﬂm%miﬁm
B BIPT TS ?

16)
Question Stimulus :-

Rabindranath Tagore got the Nobel Prize for Literature, for his work . 1 I 1Y SR B AIa RIPR e
T, I7P w1 & o

* Gitanjali / Tiaiefer

® Rabindra Sangeet/?ﬁ_ﬁ"\‘i‘ﬁ?f

® Gora/TRI

® Ghare- Bhaire / TR-H%
Correct Answer :-Gitanjali / Tidisier
17)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg oo qﬁrq
wil T T FyAl Td frewul & av § 9E R

Statements: / PYH:
All lions are animals / Hﬂ-ﬁﬁ'\’w%'
All tigers are animals / W 919 SR &

Conclusions: / fAwpd:

(8)



I. All tigers are lions / I. S ag AR &

I1I. Some animals are not tigers / II. $9 SHdR d14 S
® Only conclusion | follows / Fad ey 1 Awear %
® Only conclusion Il follows / W forem 1) Freaar %
® Both conclusion | and I foIIows/EﬂT-ﬁ: frspd 1 3T 11 fFipad %
* None of the conclusion I or II follows / Fpd I AT II A A HI5 L) Frpear g

Correct Answer :-None of the conclusion I or II follows / epd I a1 ITI § d HIs 8] Fpaar

g

18)
Question Stimulus :-

Which city was the capital of the Vijayanagara kingdom? / P T B FATTR T &1 I8 BT DT YI?
® Mysore / ﬁ'ﬂ:{
® Tanjore / GRS
® Hampi/ gt
® Belur / aﬂ:{

Correct Answer :-Hampi / g9t

19)
Question Stimulus :-

According to 2011 census, which of the following states ranks the last in overall literacy rate? / 2011 P STRIUMT &

TR, fAafefad Il § 9 S 91 997 AieRd ) 8 9o s gen g2
® Rajasthan / ISR
® Uttar Pradesh / 3R X

Bihar / S8R

® Madhya Pradesh / HWL‘I%"«’I

Correct Answer :-Bihar/ f9g8R

20)

©)



Question Stimulus :-

Who was the first woman Chief Minister of Independent India? / Tda HRd 1 uyw afgar w P AP
® Jayalalitha / STOQTerAl
® Padmaja Naidu / USTSIT ATOg

® Sucheta Kriplani / ﬁaﬂT m

® Vijaya Lakshmi Pandit / foora @weHt ufea
Correct Answer :-Sucheta Kriplani / JodT $UaT-
21)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 Uy §, tga @ u&i & 9 5 UPR | SIS T9y g Fw Rl § § @ ug gk
foraeT IR ug & a1y St YoR &1 IJ9Y )

LJH : KKI :: CIA: ?

* BJB

* BBB

* DBB

® (BZ
Correct Answer :-BJB
22)

Question Stimulus :-

is celebrated in India on 215t of April every year. / HIRd H g2 ¢ 3l F 21 dRRA B AT
ST § |

® Civil Services Day / Rufae dar fieaw
® Good Governance Day / R feaw
® Army Day / T m

® Teachers Day / ﬁT&‘ﬁ‘T ﬁ'ﬂ'\q

Correct Answer :-Civil Services Day / fIfa gar1 faaw
(10)



23)
Question Stimulus :-

A sales representative plans to visit each of six companies M, N, P, Q, R and S exactly once
during the course of one day. She is setting up her schedule for the day according to the

following conditions: / T® fagar ufafAfy 3 ais=T 991€ $1 98 M,N,P,Q,R 3R S ©: $UAl H & T&
Hul § &9 & fharfaf & v IR SR S ST i &1 SRl a9 fHan 9 el & ogwR ¢

1. She must visit M before N. / 1. 33 N ¥ Ugd M 3 faa=r =nfsel

2. She must visit N before Q. / 2. @Qﬁq'e!ﬁ N '@ﬁﬁﬂT?ﬂ%l'{l

3. The third company she visits must be P. / 3. ?ﬁﬂﬁm%ﬂﬁaﬁ Gﬂ?‘ﬁ% P EﬁT-ﬁ?lT%E[I

If the sale representative visits S first, which company must she visit second? / 3R faghar

wfafAfY ugd s ¥ oran §, @ oI Gt dul A 98 g9 IR SR

°Q
Correct Answer :-M
24)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe qﬁq
il 3T 7T Sy Td et & o § 98 R

Statements: / ®YA:

All shampoos are soaps. / 9 33"18’@? 5

Some shampoos are not oils. / $9 ﬁqﬁﬁ T 1
Conclusions: / A

I. All oils are soaps. / I. 34 d@ g gl

II. All soaps are oils / II. 9t UG dd g1
® Only conclusion | follows / W ey 1 IGESGI %

® Only conclusion Il follows/aﬁﬁ foreed 1 freadr %
(11)



® Both conclusion | and Il follows /?ﬂtﬁ. foreed 1 Gﬁ? II o %
® None of the conclusion I or II follows / ey 1 a1 11 ﬁﬁﬁé’ Hﬁﬁﬁ?ﬂ%

Correct Answer :-None of the conclusion I or II follows / A=pd 1 a1 11 # A HI5 8 Rpaar

g

25)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 9% fawey

e, St ab #1 B A TR Rr e FyT & TuE §

It is not true that both horses and zebras have stripes. / 98 I 781 & & gHI OIS iR ST &
et gielt &1

e Horses have stripes and Zebras have stripes. / 91! & HT{¥AT gidl § 3R Sa=T & it
it §

* Horses have stripes or zebras have stripes. / 9ISI & Y1f¥4i i<l & 41 S&=T & f¥ai gl
|

¢ Horses and Zebras do not have stripes. / 98I ik Sa=T &1 & «1i¥ai =81 gl 21
* None of the above / SR Eﬁi =r€r

Correct Answer :-Horses have stripes or zebras have stripes. /Eﬁ?ff% Tyt gidt & ar
ST F et gl g1

26)

Question Stimulus :-

The largest road bridge of Madhya Pradesh is located across the river. / A USRI B JaH TSI ISP gd

_ A3 PR REII

 Narmada / THel

® Tawa/ddl

® Chambal / Idd

e Tapti / ar&i
Correct Answer :-Tawa / ddl
27)

Question Stimulus :-

(12)



In the following humbers sequence, how many such even numbers are there which are
exactly divisible by its immediate preceding number but not exactly divisible by its

immediate following number? / fRafefaa @ s/ ¥, fFat Wi = 3 < fdapa sa9d
mgﬁaﬁﬁw%ﬁm%ﬁ%mmﬁyﬁ@amﬁﬁ@mﬁmﬁﬁv

38415728348939421582

e One /%

e Two / @

® Three / GiG]

* Four /IR
Correct Answer :-Two / &l
28)

Question Stimulus :-

If cream cracker means computer programming, and it's programming, then it’'s cream

cracker. / fe P HPHT T Aaad ST WA &, 3R I8 WUTRI 8, 79 98 HIH s g
* True / 93!
* False / Tad
 Maybe / B THaT §
* Irrelevant / 3WTHERTS

Correct Answer :-Maybe / 8 I&dl &

29)
Question Stimulus :-

Who among the following Chief Justices of India was born in Madhya Pradesh? / HRd & fafefaa qs]

e § & S 7eg uew # a1 ge A2
® TS Thakur / & T 31HR

* HLDattu / 9 T &

® JS Verma / S €9 gHf

® Altamas Kabir / 3fcdHY FHAR

Correct Answer :-J S Verma / & T gAf

(13)



30)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe gﬁ'q
wil 3T 7T HyAY vd fAepuf & 9 d 9E 2

Statements: / $YUY:

All games are movies / 94 @9 A &
All movies are bags / |4 fihed a7 &
Conclusions: / fasp:

I. All games are bags / I. 941 @@ a7 §

I1. All bags are games / II. it 971 @ %

® Only conclusion | follows / W feed 1 IGESGI %

® Only conclusion Il follows / Had ﬁ'wﬂf n Freadar %

® Both conclusion | and Il follows /3.1713[' foreed 1 Gﬁ? II foad %

® None of the conclusion I or 1II follows / et 1 4 11 ﬁﬁaﬂ% T-I'eﬁﬁﬂv_cl?ﬂ%
Correct Answer :-Only conclusion | follows / Sdd sy I fradr g
31)

Question Stimulus :-

The highest peak in western Ghats is / ufieft gre d gareE RreR %:

® Annaimudi / 3FTSYS!

® Mahendragiri / ﬂ%&ﬁr\ﬁ

® Saddle peak / dsd Tad

® Blue mountain / '@_ELWIB%:I'
Correct Answer :-Annaimudi / 3FTEYS!
32)

Question Stimulus :-

In the following diagram, the circle represents college professor, the triangle stands for
surgical specialist and medical specialists are represented by the rectangle. / e Wﬁ

(14)



H, g Blas & MR &I Y&gd Dl 5, AP0 g=1iar ¢ YaRfee ARuyg ik smifagm fafees sma
&RT Tegd frd M

College professors who are also surgical specialists are represented by / Cackan kg

TS SR TR RS ST wegd $var &
e A
B
e C
e D
Correct Answer :-D

33)
Question Stimulus :-

The Quwwat-ul-Islam Mosque is to the north-east of which monument? / Ppodd-3el-g¥cITH 'FI'%I_CE fPaTRe &

IWR-7d # &7
® Victoria Memorial / faaeifear Auifvaa
® Taj Mahal / dTol Hgd
® Humayun’s Tomb / §TIT!\]J'\$T HDERT
® Qutb Minar / WTﬂTﬂT

Correct Answer :-Qutb Minar / $gIUIFR

34)

Question Stimulus :-

(15)



Find out the pair which is different from the other in the following question. / g uy A
98 g A SO it STl | ST 3

e Black and white / &Tdl 3R ﬂ'ﬁTc{

e In and out / 3dT 3T IR

® Weapons and arms / 3R AR
e High and low / ST 3N A

Correct Answer :-Weapons and arms / IRd 3R AR

35)

Question Stimulus :-

Kailash Satyarthi found a child — friendly movement in 2015 that gives free education and protects children from
exclusion and exploitation. What is this movement called? / Famr gardf o1 Th a1 far - 2015 9 Uh
SIPd Sfgia St g B e RIg a1 § U ITHR UT M90T F ITHT 38T FRam g1 59 Sfigia
T FT AT 82

® Bachpan Bachao Andolan / S99 T3 3{13:]?17'[

® Bachpan Saksharta Protsahan / XU HI&RdI 'Cﬁ?\‘TIE:l'
® Bachpan Shiksha Abhiyan / FaU Riaf fm

® Bachpan Anurakshan Seva / IdU- S{JREUT a1

Correct Answer :-Bachpan Bachao Andolan / SUH TET3N Sficiad

36)
Question Stimulus :-
I. There is a group of five persons A, B, C, D & E. / 1. Ufd safeal A,B,C,D 3R E &T U% IYE 2|

II. One of them a horticulturist, one is a physicist, one is a journalist, one is an industrialist
and one is an advocate. / II. 379 ¥ T& IUH XY g, TP Hifdwr AT §, U6 PR 8, T
SUNTUfd § ok TP aoid 3|

II1. Three of them A, C and Advocate prefer tea to coffee and two of them B and the

journalist prefer coffee to tea. / III. 98 & i, A,C 3R THId PIPI & IOl I1Y UIE P & SR
3, B 3R UTIPR 919 & IO HIB] TS Bd &1

IV. The industrialist, D and A are friends of one another but two of these prefer coffee to

tea. / IV. ITNTURN, D 3R A T g & 1T § WY 399 ¥ Sl 910 & §919 H1B! Wig $4 3
V. The horticulturist is C’s brother. / V. 3T RAAUF C &1 4iS 21

Which of the following groups includes a person who likes tea but not an advocate? / fad
(16)



q ®iF A 9Yg ¥ 98 U Afad g O 919 Wig § W 98 a91d 78! 82
e DE
e BD
e CE
e AD
Correct Answer :-AD

37)
Question Stimulus :-

Which river is called the “Ganga of Madhya Pradesh”? / {3 St &1 "W ST H1 I T SIaT 82

® Narmada / 7'“1_(';[
® Chambal / Idd
® Betwa/dddl
® Tapti/ ardt
Correct Answer :-Betwa / Sddl

38)

Question Stimulus :-

The Lokpal and Lokayuktas Act received the assent of the President in ./ AT 3T W Srferfrag
Eal # vgufa #1 weafd uw g3 9t

* 2014
® 2013
® 2015
®* 2012

Correct Answer :-2014

39)
Question Stimulus :-

X+Y means X is the daughter of Y, X-Y means X is the husband of Y, XXY means X is the

(17)



brother of Y. / X+Y BTHAAd g8 X, Y PI 91 8, X-Y BT HAAI € X, Y BT UA &, XXY BT HAA & X, Y

BT UTS 2l

If AxB+C, which of the following is true? / fe AxB+C &, @l T H A P ATIN §2
® Aisthe brotherof C/ A, CPI 1rr=:?%
® Aisthe daughterof C/ A, C FI ot %
e AisthesonofC/ A, C &1 da1 @
] AisthefatherofC/A,C?FIfﬁ?lT%
Correct Answer :-A is the son of C/ A, C &I d2T @
40)

Question Stimulus :-

How many times the vowels precede the consonants in the word ‘RETROGRESSION'? /

‘RETROGRESSION’ ¥t # fohra+t IR waX vl & Jd & 32
o 1
° 2
e 3
e 4
Correct Answer :-4

Topic:- Mental Ability and Mental Aptitude
1)
Question Stimulus :-

1

4
2 meter of cloth required to stitch a skirt. For how many skirts can be stitched with 105

3 1 3

1 m of cloth? / TP Toc o e & e 2 + it FUST TET 8] 105 4 7t UL ¥ fha-l e Ryl
ST Pl 82

. 87
. 47
. 37

(18)



o 27
Correct Answer :-47
2)

Question Stimulus :-

A train covers a distance of 880 km at a constant speed. If its speed would be 15 km / hr more, then it would have taken 6
hours less ot cover the same distance. What is the original speed of the train?/ Th a? UHIHT o ¥ Tad BT 880 e
B g T B 31 A IFPT A 15 felieeT I 9g o, 9 IuS! W g8 B T HA & Y 6 9 FH @A I
P TP T FT 82

e 40 km/hr/ 40 forHi/EeT

® 55km / hr/ 55 fopHi/eer

® 60 km / hr/ 60 TorHi/ger

® 50 km / hr/ 50 fepHi/ger
Correct Answer :-40 km/hr/ 40 foHi/ger
3)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ'@f S&Y AP SEr Pl T ﬁﬁrq ta_cd_cda_dab_

abc
® cdbb
® bbcd
® bcdb
® bcdd

Correct Answer :-bbcd

4)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / ﬁ'ﬁ 3'1137% CAREIEkca ﬁfa
Aqu =T B¢ feaet i v@re ot emazawarn gifte

(19)



/

5

o 7

e 6

e 8
Correct Answer :-6
5)

Question Stimulus :-

The price of the petrol is increases by 25%. By how much percent a car owner must
reduce his consumption in order to maintain the same budget?/ Uid & $I1Hd & 25% Tt
g3 | I3 g9 &I 91U W@ & T oR & wiftre &1 fear uiaze a@ Tud ger! aifite?

* 20%

® 25%

* 30%

®* 15%
Correct Answer :-20%
6)

Question Stimulus :-

In a certain code language SOLID is coded TPMJE as then in that language
METALLIC is coded as: / {53t gisfae Yrar & SOLID & TPMIE & ®ifed far simar @
@ ST HIUT § METALLIC &1 B Sifsd fHar Smam:

® NFUBMMID

(20)



* NFUBMMIB
® NFUCNNJD
® NFUBNNIJD
Correct Answer :-NFUBMMID
7)
Question Stimulus :-

In the sequence shown below, which figure comes next? / -d feWr T %4 ® ATl SnMHid
®i9 i grfi?

] T L 1 18 L1 1) ey J
L 11 eO0 L 1 18] o] | ]
®00| L L 1 ] ale] el 1
alal |
lel
1 1 ]
[ ]
OO0
20
L L iL
[ ]
ol 1
L IoT |
®C0|
[ ]
L 1 I9
GO0
Lt 1 I8
[ ] —— -
Q00
S
L 2 X

Correct Answer :-

8)
Question Stimulus :-

Three persons formed a company by investing Rs.6000, Rs.8000 and Rs.5500
respectively. If they got Rs.1950 as profit, then what is the profit share of the

2" person? / N @fdial A HHRN: $.6000, ¥.8000 3R ¥.5500 3% HIP TH HUL
IRE Bl 3R IH] %, 1950 F a1 e g ot 2 safeq F @y &1 ggHTe- fha 82

(21)



1100

e 900
e 800
e 600

Correct Answer :-800
9)
Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt lim means hard rock music. Which is the word
for frills in that code language? / Bt @ g Sis HwT ﬁ, bart il arn &1 Hddd % thrills
and frills, hed mik ain ®1 Addd € diamonds are forever, ad ket hed &1 Hddd g
hard as diamonds, lim arn kelt &1 Hddd ® rock music thrills, ket kelt lim &1 Hddd
® hard rock music | 3 B UMY H frills & fow o7 Teg 82

® Dart

e

® arn

® bartor il
Correct Answer :-bart or il
10)

Question Stimulus :-

In the following_ q_uestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy #, 9= 4@ A TP US TAd €| TAd UG FId BISA|

2,3,5,7,9,11,13,17
e 11
e 13
9
e 7

Correct Answer :-9

(22)



11)
Question Stimulus :-

If the code for PRACTICE is QSBDUJDF then what will be the code for CONTACT? / Tfd PRACTICE & ferdl 1€ QsBDUIDF @

dl cCONTACT & ford a1 Pis gRIT?
® BDODPUV
®* DPOBDUV
* PDOBUDD
* DPOUBDU
Correct Answer :-DPOUBDU
12)

Question Stimulus :-

The series given below contains a sequence of alphabets and humbers. Identify the
incorrect combination: / s € ¥ s@ar &Rt U T=ATSH BT STHH TIRT il 7] Tad Jao
U= |

(i) HSSPSAHSCSD
(ii) HS8PASHSCSD
(iii) HS8PASHSCSD
(iv) HS8PASHSCSD

o i
o i
o il
° iv
Correct Answer :-i

13)
Question Stimulus :-

Complete the series choosing the missing number: / AW IBAT DR SGAT B TR BICMT :

(23)



6,13,28,59,
e 120
e 121
e 118
e 122

Correct Answer =122

14)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬂ &Y AP SEr P T ﬁ%rq taa_bcc_a_bcc_
abbc _

® babac
® bbaac
® baabc
® bbacc

Correct Answer :-babac

15)

Question Stimulus :-

A box contains 4 green, 5 blue and 4 red balls. One ball is drawn at random. What is the probability that it is either green or

red? /U 91T § 4 B31, 5 BTl 3R 4 AT TG A &1 TP g &1 ifHfHad <1 | e siar g, | ST e fo a8
Bk R EUE BT

* 9/13

* 7/13

* 8/13

* 1/13
Correct Answer :-8/13
16)
Question Stimulus :-

(24)



A and B can together finish a work in 30 days. They worked together for 20 days and then B left. After another 15
days, A finished the remaining work. In how many days A alone can finish the job? / A 3T B $ &I 30 fai &
R B Thd g1 9 20 G a% A1y w18 Hd § 3R iR B $1 Big a1 81 3FTa 15 3 & ugrq, A apt
P B R B AT 31 A 3Ppa fbaq R o o0 &) 1 B3 Topar 32

40 days / 40 fe=1

30 days / 30 fem

35 days / 35 fe

45 days / 45 fe=

Correct Answer :-45 days / 45 fa

17)

Question Stimulus :-

A bag contains 8 white, 5 black and 4 blue balls. One ball is drawn randomly, what is the probability that it is neither white

nor blue ball? / T ST H 8 Hhq, 5 BTa 3T 4 el 7S A 2 | Tob g Bl SifATirad &7 A Fpren s g, =1
U1 fP ag Tl ghe g IRT g A W P g g2

* 5/17

* 8/17

* 4/17

* 6/17
Correct Answer :-5/17
18)

Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt Iim means hard rock music. Which is the word
for diamonds in that code language? / {5t W HIS HIWT #, bart il arn &1 AdAd @
thrills and frills, hed mik ain &1 Hddd € diamonds are forever, ad ket hed &1
Hddd % hard as diamonds, lim arn kelt T Hddd % rock music thrills, ket kelt Iim
P1 Aded & hard rock music | 39 B8 HIUT # diamonds & T =1 vIsg @2

® hed
® mik

® ain

(25)



® hed or ain

Correct Answer :=hed

19)
Question Stimulus :-

A car costs Rs. 60,000 when it is new, after one year its value goes down to Rs. 40,000.By
how much percent has its value decreased? / U% ®R od 4l 94 § 9 60,000 U &1 g1 TPH g9
¥ 91 STPI BIAd 40,000 I TR el W6 31 59 PR & Yod § fpaq wfawrd fiae oS 82

Lid | =

e 43

—

Lid | =

L | =

Correct Answer :-33

20)
Question Stimulus :-

14/7)x16-(15x2)+(48/3)5=?
e 62
» 72
e 82
e 92
Correct Answer :-82

21)
Question Stimulus :-

How many different six letter words can be formed using the letters of the word ‘PENCIL if repetition is not allowed? / Tlﬁ'

TRIgic ST 8l 8, 99 ‘PENCIV JTeG & 31&RT T YART P T35 3R P fraq [l o a9 a@a 32

(26)



e 700

e 720

e 740

e 760
Correct Answer :-720
22)

Question Stimulus :-
The length of a rectangle increased by 20% and its breadth decreased by 20%. What is the change in its area?/ 3ITdd
P GaTs § 20% DI TR DI T3 3N ASTS Pl 20% FH FR 3471 TT1 IS &Fwd & foha-n afvaad
gall?

® |ncrease by 4%/ 4% dgl

® Decrease by 4%/ 4% YcT

® No change / ﬁ‘s‘ qfvaa =gl

® None of the above/ Gtréaa = aﬁs‘ T'I'é)f

Correct Answer :-Decrease by 4%/ 4% 9cl

23)

Question Stimulus :-

A7B06 x 156 = SB977A6

Where A & B are representing different numerals; find the value of ‘A’? / A7B06 x 156 = SB977A6 \_SI_Ea'TA Gﬁ'\" g flaftr
ISP §; a9 ‘A BT AF ey

e 5
e 4
e 3
e 6
Correct Answer :-3

24)
Question Stimulus :-

(27)



Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% 33 10 IR vl & A = A T va & i I9H o9 91 v T8I 22

Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(i) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(ii) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(iii) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(iv) Beauty Mountain Whitewater Trippers, Inc.
General Deliver
Edmond, West Virginia 25837

(304) 574-0211
o i

(28)



Correct Answer :-iv

25)

Question Stimulus :-

3x 13, 3x 13
g 6 4 g 6 4
find x. / X T PIfeTY
13
. 4
E
o 2
7
. 3
®* None of these / Eﬁﬁﬂﬁ'&‘ﬂ%ﬂ

14

Correct Answer :- ?

26)
Question Stimulus :-
A man’s average monthly savings is Rs 750 during May, Rs 825 during June and Rs 775
during July. Find the average monthly savings for the three months? / T® STGHT Y 1=I'§ H
TR $ 3fId S99 750 * B, 7 A 825 T R gams # 775 ¥ ¢ | O 7 & e 7 1 siiua swa
Areferg?

o 788

e 790

o 783

e 780
Correct Answer :-783

27)

(29)



Question Stimulus :-

A dealer marks his goods at 35% above the cost price & allows a discount of 20% on the
marked price.Find his gain or loss percent? / T®h fasdr 3U A B AFTd e T 35% HWR fafed
Feal § SR 39 Rt g0 ¥ 20% @1 ge a1 81 I9qHT a1y a1 g1 wia=ia &1 gar @y

* 8%

* 7%

* 6%

e 5%
Correct Answer :-5%
28)

Question Stimulus :-

In a flight of 600 km an aircraft was slowed down due to bad weather. Its average speed was reduced by 200 km/hr and the
time of flight increased by 30 minutes. The duration of the flight is;/ 600 et ot IS H Uh foam @1 vfa @R JieE
¥ PR FH T G TR ST 3T TR 200 Rriiier F9 3 SR § Sl S5 @1 EE 30 AT 9@ 9 S
21 SSH & T 9T IHY NI

e 1hr/19eT
® 2hrs/29¢
® 3hrs/3 ¢

° 4hrs/45i%

Correct Answer :-1hr/ 1 geT

29)
Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt im means hard rock music. Which is the word
for rock in that code language? / {5t @RI FIs YT ®, bart il arn &1 AdEd § thrills
and frills, hed mik ain &1 Hddd % diamonds are forever, ad ket hed &1 Hddd %
hard as diamonds, lim arn kelt &1 Hddd ? rock music thrills, ket kelt lim &1 Hddd
T hard rock music | I8 B8 HUT & rock & U T T8 B2

® Lelt
® [im

(30)



® felt or lim

® Neither kelf nor lim
Correct Answer :-kelt or lim
30)
Question Stimulus :-
Complete the series choosing the missing number: / ﬁ?jl'ﬂ AT gD g@dl ﬁw PIfoIT :
1,3,5,11,21,

e 43

. 42

e 44

e 41
Correct Answer :-43

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-
If sin A = 1/2, then sin®2A = / Tfe sin A = 1/2, 9 sin2A =
°* 12

° 1/4

e 3/4
32

Correct Answer :-3/4

2)
Question Stimulus :-

A customer purchased a laptop bag with a price tag of Rs. 2000 in a sale where 30%
discount was being offered on the tag price. The customer was given a further discount of
10%. The final amount paid by the customer was: / T® Ulg® 2000 =UE eI F T 9 T
AueiT 4A H) Th Ja § TiladT & S8l ¢ Jed W 30% 1 ge Yxmad @1 o @ 1 I8 Ft 10%

(31)



SfaRkad ge vaM &1 91 g1 Te® §RT YaH &1 Tt sifaw A A:
® Rs.1500
® Rs. 1625
® Rs. 1260
® Rs. 1400

Correct Answer :-Rs. 1260

3)
Question Stimulus :-

In case of a fire accident in a cracker manufacturing factory which number would you dial to call the Fire and

Rescuementoputoutthefire?/mmmﬁﬁmmﬁ%ﬁmmTWGﬁ?
aTd [0 @) ST g B A & fAE S IO1 TR ST B

e 100

e 101

e 102

e 103
Correct Answer :-101
4)
Question Stimulus :-
Fx:y=2:1,then (> =y?): (2 +y?)is: / TR x:y=2:1, T (62— y?) : (2 +y?) &

® 1:3

e 5:3

e 3:1

e 3:5
Correct Answer :-5: 3
5)

Question Stimulus :-

(32)



Marbles kept in water look enlarged because water acts as a / =t § @1 AT 931 ﬁ@'lé’ a?ﬂ %, e
U 59 w0 § B ST §

® Concave lens / 3add a

® Convex lens / I9d A9

® Magnifying lens / 3made a9

* BothB & C / BTd C gl
Correct Answer :-Both B & C / B ¥d C &Il
6)
Question Stimulus :-

Which pigment gives red colour to blood? / DI T quich Yo A drel T é'cn %?

® Serum globulin / HIRA Wﬁ_ogﬁlﬁ
® Serum albumin / RT E('_'&E&FT
® Haemoglobin /mﬁﬁﬁ:{

® Plasma protein / WITSTHT o=

Correct Answer :-Haemoglobin / BTG e

7)
Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the humber of votes given to the
four players in each of the cities. Answer the following questions using the information

provided. / IR e’ § T HA&Ur maiferd far wan for# ufavniral &1 32 # 949y frde Qe & fou
dic ® B P TNl [y aifcreT yde e A IR faafedl #1 Ry e 9iel 31 9 fEnd g1 Sudasy
BIE TS AFBRI PT ITART BT 9 g8 & IR

(33)



Delhi
Mumbai Kolkata! Chennai

Player / @=1sT fRe=slr IHas AR [y

Sachin/ wferr 125 225 75 100
Rahul / g 100 175 125 175
Virendra/dies 250 125 100 75
Mahendral =& 25 75 200 50

If one of the voters from Delhi is randomly selected, what are the chances that he voted for Mahendra as the best player? /
e Reeclt A T AacEr Y HHRied & | T1 ofldT 8, T UG § & a8 #d% & frw gddy st & +u
A HagH Bl 52

® 6.25%

® 75%

® 10%

® 125%
Correct Answer :-12.5%
8)
Question Stimulus :-

Conventionally, the charge acquired by glass when rubbed with silk is considered to be/ SId I P I & 1Y
TTST WY 9 BT GIRT Sfford SATART Aidbidd U | T ST

® positive / YATHD

®* negative / BUTHSDP

® neutral / W

® eijther positive or negative / T al YATHS T BUMTHD

Correct Answer :-positive / UATHD

9)

Question Stimulus :-
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In AABC, if LA = 90°, which is the largest side? / AABC ¥, af¢ LA = 900 @ Tad TSt Yol HIF
H g2

® BC

® AB

® AC

® CA
Correct Answer :-BC
10)

Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information

provided. / IR e H TP Fagur raifora fasar mar forad ufavfay & ¢z # 949y fvdre faarst & fie
dic ®A B Tl 1411 Y JIfereT tde WeR ¥ IR fAafsal w1 R 1w aiel #1 e fRErd 31 Sudasy
PRIS TS THBRI BT STANT B F Ui F IW

Delhi
Mumbai Kelkatal! Chennai

Player ! T@=msT IRt IHas FieshT i

Sachin/ =TT 125 205 75 100
Rahul f 1= 100 175 125 175
Virendra/dies 250 125 100 75
Mahendral 7z 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he had voted for Rahul as the
best player? Tfe¢ Tt TR MER| A TH TSI P BRI &1 A T oIl 8, FIT UG @ % 98 Wga & faw
a9y faarsl & U § AdeH T 82

® 5%
® 6.25%
® 875%

® 10%
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Correct Answer :-5%

11)
Question Stimulus :-

x 20, y20 and x + y =1 graphically represents a ./ x20,y2Z0and x + y =1

ghafAd ¥u 4 98 quiar &
® atriangle in the first quadrant / fl?@f ilﬁ‘d‘f’ﬂ i TP B

® atriangle in the second quadrant / §\‘ﬁ' ilﬁﬂfQT i LG [ECaL]

® arectangle in the first quadrant / tl%ﬁ i’g’ﬂf-‘& i TP 3T

® arectangle in the second quadrant / §'\‘ﬁ ﬂﬂﬂfﬂ i TP 3Ad
Correct Answer :-atriangle in the first quadrant / Tgd Igufsr & T Haior
12)

Question Stimulus :-

Which of the following statements is true? /ﬁ'ﬁ A q P19 A1 $YT I %?
® Two congruent figures are always similar. / a Harmq GﬂTﬁRﬁ '\‘ﬁa &Y ﬁ?ﬁ %'I
® Two similar figures are always congruent. / o Uy aquﬂ%u‘f Ted JagH gt g1
® Any two equivalent triangles are congruent. / ﬁ% ??f HHPE (FHJH) ﬁ‘ljﬁf HaiH Eﬁ?f %'I
® Two isosceles triangles are always similar. / @ ?’I’Hﬁﬁ'l’g’ ﬁ'ﬂﬁ Tcd U= g g1

Correct Answer :-Two congruent figures are always similar. / ar Taiq Wﬁﬁﬁ ?I%H JHAFY gl %'l

13)
Question Stimulus :-

Which of the following is NOT a reason for preferring Chromium for electroplating objects such as car parts, bicycle

handle bars, kitchen stoves and bathroom fittings? / BT ) tIETQsz o PR & YT, %11‘{% %:"-?I' DG, Ms‘
Teel Td W e & fagaa aua & a¥iaar 33 &1 A § 3 9 91 $RoT =1E 82

® Chromium has a shiny appearance / PR &1 FY JHPGIR %

® Chromium does not corrode/ﬁ’ﬁﬁl’q'q 'ef H.&‘I'R :ﬁﬂ Eﬁ?ﬂ

® Chromium resists scratches/ﬁﬁl’q'q @ﬁ?ﬁ ﬁ ﬁﬂﬁﬁ %

® Chromium is a cheap metal compared to iron /ﬁﬁﬁl’q'q ﬁ"\% | LGEL = | I urd %
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Correct Answer :-Chromium is a cheap metal compared to iron / SPITIIH &g I GEEL H gl Urd ?

14)
Question Stimulus :-

The distance-time graph for an object, moving with a constant speed will be a / fRR 7fa I faa™= T aq &

fore gf-vg 9w g -
® Curved line / 9% ¥G@T
e Straight line / I @I
® Line parallel to X axis / X 3[&f & TUMIAR 3@
® Line parallel to Y axis / Y S{&f & GUMIAR 3@l
Correct Answer :=Straight line / & @I
15)

Question Stimulus :-

Raj picks up a three digit number and subtracts it from the same number after reversing
order of the digits. If the difference is divided by 9, then the remainder is
/ T T I 3ih] B TBAT B 4T & UG 3Pl & HH HI Ipid $31 & 916, I TBI A "erEr 21 afe
3R P 9 | fyuifora fFar sg, a9 AW gl

Correct Answer :-0

16)

Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information

provided. / TR g3 # TS Fdgur raifora fasar war forad ufavray & ¢z # 949y fvde Raarst & e
dic ®A B Fel 111 A7 JifereT tde WeR ¥ IR sl #1 Re e aie) #1 e fRwrd 31 Sudasy
PRIS TS BRI BT SUANT B F Ul F I
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Delhi
Mumbai Kelkatal Chennai
Player { @=m=T fRwen Fas CIECa U
Sachin/ wiE= 125 225 75 100
Rahul / Tg=r 100 175 125 175
Virendra/di=g 250 125 100 75
Mahendra/ #&s 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he either “belongs to Mumbai
and voted for Mahendra” or “belongs to Chennai and voted for Virendra”? / uﬁ It IR '-‘Z'Iﬂﬁ '\ﬁ' T HdgIdl 3|
PRI &1 T AT ST 8, T GUET @ & 98 "4ag & 3iaild 3T 8 3R 391 Wes & fore wae™ fear ar
"I9S & Ififd 3T g 3T WA IR P forw Id9y /et & w=u # Hae fFur?

® 875%

® 75%

® 6.25%

® 5%
Correct Answer :-7.5%
17)
Question Stimulus :-

Identify the CORRECT statement about cyclones: / Tshdld & aﬁ' o w HYF Bl T-IB?IT&I'E :

® High speed winds circulate around a high pressure region / 3=l qId 8-33[ & AU I T E:aﬁ
gfearfera giet g1

® The coastline of India is not vulnerable to cyclones / HIRd ® qYg dc depdld G ﬁ‘ﬂ?l q’(ﬁ %I

® The wind direction is clockwise in southern hemisphere and anticlockwise in northern hemisphere / E{f&l’uﬁ

Trane & arg @t fexm gfémomad gidl 8 ofv Swl Mrand ® arg &t fexm arTad gidl 81
® The wind direction is clockwise in both hemispheres / dTg B ﬁ'ﬂ'lT a:ﬁ Tﬁﬁﬂﬁ o E'f?;l'u'lﬁ?f '@T‘ﬂ %I

Correct Answer :-The wind direction is clockwise in southern hemisphere and anticlockwise in northern

hemisphere / Sf&oft Trenef & arg @ fe=m Sfaomad gidl @ o It Mand & arg & fo=m ammad gt 21
18)

(38)



Question Stimulus :-

If the area of a square is 256 m2, find the perimeter of this square. /afe Tdh T PT AFAw 256 Hie? %, @ 39
P URHT J1d BifoE|

° 16m /16 W

e 12m/12HwR

* 64m/64 R

* 32m/32WwR
Correct Answer :-64 m / 64 Hiex
19)

Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Anhswer the following questions using the information
provided. / IR W& H TP Fa&ur maiford fasar man forad ufaurral & gz # 99y fvde aast & o
dic P31 Bl BT T 9 difcreT Tde e @ IR fAensal 1 for v 9l 9 '@ Randt g1 Suasy
HUS TS TSGR BT IUGNT R 7 Ut F I S|

Delhi
Mumbai Kolkata! Chennai

Player { &=t {R=ir ] FiARTT [

Sachin/ s 125 225 75 100
Rahyl / 7= 100 175 125 175
Virendra/dies 250 125 100 75
Mahendra/ &z 25 75 200 50

What percentage of all the voters voted for Mahendra as the best player? / 'FI%_Q' * ﬁl’({ ﬂﬁ:’a’g @?ﬂ’eﬁ ¥ U H Hdglq
$3 a1 9 wagare &1 ufawa w1 82

® 175%
® 195%
® 22%

® 24%
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Correct Answer :-17.5%

20)
Question Stimulus :-

The branches of the tall trees look like a roof over the other plants / ©id U @1 d JMATY il gaO¥ ol W T Pt
wifer faars ot ¢ 9 gl

* Crown of the tree / US TP

® Canopy of the tree / ﬁ's' @I fgari

® Under storey of trees / ﬁs F A & 5=

e Shoot system / WRIg WUIel!
Correct Answer :-Canopy of the tree / U &I faar-t
21)
Question Stimulus :-

Find the perimeter of the sector of angle 60° of a circle of radius 21 m. / 21 Hiex A= &
gd H 600 PV & TFeR BT URHTT F1d BT

* 22m/22WteR

e 11m/11HR

e 44m/4aHIR

* 44/3m/a4/3 TR
Correct Answer :-22m /22 Hiex
22)

Question Stimulus :-

Pure water can be made to conduct electricity by dissolving / R[& STl i | qg 1K [ 22y ﬁg!rcr BT IdTd BRardm
ST a&HdT 8

® \egetable oil / gIHfd 9|
® Honey / Rleq
® Common salt / HTYIRUT |dUT

® Sugar / GGl

(40)



Correct Answer :-Common salt / HTYIRUT Q0T

23)
Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information
provided. / IR e H TH Adeor raifora fasar mar forad ufavnfray & ¢z # 949y fvdre Raarst & fe
dlc F31 B a1 T 7 aifereT Tae TeR ¥ IR [l 6 Ry 7 diel #1 wen e 31 Sudsy
HRAS TS THPR BT IUANT B 77 usif F IW S|

Delhi
Mumbai Kolkata! Chennai
Player { T&amsT = Fas IRl feeAs
Sachin/ w== 125 225 75 100
Rahul / ager 100 175 125 175
Virendra/di-g 250 125 100 75
Mahendra’ sz 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he “belongs to either Delhi or
Kolkata” and “had voted for Sachin as the best player”? / '{Iﬁ It IR ?IE'\ﬁ' I U HdgIdl ol W'%?I’ ST T
ST 8, T SHEAT © f ag el o1 Sliaear & sidvia omar g o 391 “afiq & forw 9d9y /et &
w9 ¥ HdeH fear?

® 75%

® 85%

® 10%

® 115%
Correct Answer :-10%
24)

Question Stimulus :-

Slides in the park is polished smooth so that / T Bt WT'&:S.‘T P R uifer=r far srar % Gl
® Friction is increased / ayur & q@ E’f

 Friction is reduced / 94U § &HHI 81
(41)



® |t can look attractive / T 3Py P ﬁ@

® Friction is eliminated totally / L] I\ﬁ GRE J @® Epf 1Y

Correct Answer :-Friction is reduced / 990 & &HI g

25)
Question Stimulus :-
Why are pickles stored in plastic containers or glass bottles and not in Aluminium containers? / 3ER] B

WIE® & U a1 B B MR F i G fovar Smar 8 8k vegiforaa & ur # == fopar simare

® Because when placed in glass & plastic containers we can see what is inside. /'ﬂﬁ:ﬁ? o9 i 3R

e UTAl § SMARI &I @M STdT @ df g IS9P 3I<Y ¢ I&d gl

® Plastic & glass containers are light and easy to handle. /W 3R P & U b Bid % 3R GYTeA
# 3T B B

® Plastic & glass containers can be recycled after use. | WTRe® 3R Ha & Ul B W4T F 916 ek
foar o wear 71

® Because Aluminium metal reacts chemically with the acid present in pickles. /?:Rﬂ% AR ¥ IufRG

3 & Y TegH = urg Irarafe sriiferar st 31

Correct Answer :-Because Aluminium metal reacts chemically with the acid present in pickles. /aaﬂ%

AR # SUFRIT 3 & 1Y Ty~ arg yramaf=ie Sfiferar s 81

26)
Question Stimulus :-

Self Pollination refers to the / SIUNUT 3'\& '\‘I@ﬁﬁ CXGI %

®* Transfer of pollen from anther to ovary of other flowers / URTIT &1 WRA-H I 3 Ug?ﬁ
& 3SR ¥ SR

® Transfer of pollen from anther to stigma of the same flower / 341 Pd ¥ RN HT RET-HI A m
H srgfEo

® Transfer of pollen from anther to ovule of different flower / W Bl & WA & RA-HI F dolis
H srgfEor

® Transfer of female gametes from anther to stigma of same flower / W Afte &1 RAT-wiwr 9 I Td
& efdig o srgfmor

Correct Answer :-Transfer of pollen from anther to stigma of the same flower / S Td & RN BT

WAT-HI & Thadg | SgfEoT
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27)

Question Stimulus :-

b O S
Find the sum of roots and product of roots for the quadratic equation ~* Sx—4=0 / feama

gz 2% —35—4=0 % frg et 1 9 ok qE BT U Frem

5
= 2
2

[ ]

® 5.4
-5

L2

2

[ ]

* 54

b | L
l‘l
%)

Correct Answer :-

28)

Question Stimulus :-
Moss and ferns reproduce bylfﬂ'é Gﬁ?’ quitT mﬁﬁ' @?f %
e Budding / %@ 9
® Fragmentation /ﬁ@vgq J
® Spore formation /EﬁT'ITUI fFrafor @
® Cuttings / Pd- &
Correct Answer :-Spore formation / SiwiTy] fowfor &
29)

Question Stimulus :-

During heavy exercise, the muscle cramps is due to the accumulation of / TR o & SR, =M vaq
TS 9T F PRUT B &

® Alcohol / TEHIGIA
® Carbon dioxide / W:ﬂgaﬁ'ﬂ'ﬂﬁg
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® Lactic acid and carbon di oxide / dfde® 3T 3R Hrad glgaﬁlﬂ'\qﬁg
® Lactic acid only / Had dfded 3w

Correct Answer :-Lactic acid only / Had dfdcd v

30)
Question Stimulus :-

The S.1. unit of Pressure is / &Td @1 Wéﬂg smé T
® Newton / <JcH

* Kg/md

® Ppascal / UI&hd

® Joule / S&

Correct Answer :-Pascal / OI¥h dl
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